
 

 

 

Part E:Must show all your work step by step in order to receive the full credit; 

Excel is not allowed. (41-53) 
 
30. Ten trials are conducted in a Bernoulli process in which the probability of success in a given 

trail is 0.4. If x = the number of successes, determine the following.  

 

a) E(x)       

 

b)𝜎𝑥 

 

c) P (x = 5) 

 

d) P (4 ≤ x ≤ 8) 

 

e) P (x > 4) 

 

 
 

31. Work problem number 5 on page 6-14 (a-e). 

 

32. Work problem number 9 on page 6-28 (a-f). 
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33. Use problem number 4 on page 6-22 to fill in the table and answer the following questions 
(a-c).

 
 

 

 

 
34. Work problem number 5 on page 7-23 (a-f).(**Please draw the graph) 
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35. Work problem number 9 on page 7-47 (a-f). (** Please draw the graph) 
 

 
 

36. Find the following probabilities:(**Please draw the graph) 

 

 

 Show your work Please draw graph 

a. P(-1.4 < Z < 0.6)                                      

 

 

 

 

b. P(Z > -1.44)                                             
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37. Find the Z scores for the following normal distribution problems.(** Please draw the graph) 

 

38.  

c. P(Z < 2.03) 

 

 

 

 

d. P(Z > 1.67) 

 

 

 

 

e. P(Z < 2.84) 

 

 

 

 

 

 

f. P(1.14 < Z < 2.43) 

 

 

 

 Show your work Please draw graph 

a. µ = 604, σ = 56.8, P(X ≤ 635) 
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39. Work problem on number 11 (a - f) on page 7-47 (a-f). (** Please draw the graph) 

b. µ = 48, σ2 = 144, P(X < 20) 

 

 

 

 

c. µ = 111, σ = 33.8, P(100 ≤ X ≤ 150) 

 

 

 

d. µ = 264, σ2 = 118.81, P(250 < X < 255) 

 

 

 

 

 

e. µ = 37, σ = 4.35, P(X > 35) 

 

 

 

 

f. µ = 156, σ = 11.4, P(X ≥ 170) 
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40. Work problem on number 3 on page 8-10. 

 

41. Work problem on number 12 on page 8-11. 

 

42. Consider the following hypothesis test 
Ho: µ ≥ 10 
Ha: µ < 10 

A sample of 50 provides a sample mean of 9.46 and sample variation of 4. 
 

43. Consider the following data drawn from a normal distribution population: 
 

4 8 12 11 14 6 12 8 9 5 
Construct 95% confidence interval using the above information and answer the following 

questions. 


